mychef.

QUICK

QUICKIT | QUICKT

Despiece y Listado de Recambios

Exploded View and Spare Parts List

Vue Eclatée et Liste des Piéces Détachées



BHS
Stamp



indice / Index

ESPANOL
DI ESPIECE i 3

LiStadO e MO CAMIDIOS. . e e e aa e 10

ENGLISH
EXPIOTEA VIEW .. s 11
SPAE PANS [IST .ottt 18

FRANCAIS
VUG B At oot e e e e e et e e e e e e e aae s 19

Liste des pieces de reChange ..ot 26

DESPIECE - LISTADO DE RECAMBIOS | EXPLODED VIEW - SPARE PARTS LIST | VUE ECLATEE - LISTE DES PIECES DETACHEES

mychefcooking.com

QUICKIT|QUICKT - DT.DS.QL22021.2.3



Despiece

Este despiece corresponde a los modelos:
QE1XXXO0X | Mychef QUICK 1
QT1XXXO0X | Mychef QUICK 1T

DESPIECE - LISTADO DE RECAMBIOS | EXPLODED VIEW - SPARE PARTS LIST | VUE ECLATEE - LISTE DES PIECES DETACHEES

mychefcooking.com

QUICKIT|QUICKT - DT.DS.QL22021.2.3



Explosionado puerta

DESPIECE - LISTADO DE RECAMBIOS | EXPLODED VIEW - SPARE PARTS LIST | VUE ECLATEE - LISTE DES PIECES DETACHEES
QUICKIT|QUICKT - DT.DS.Q1.2202.1.23

mychefcooking.com




Vista interior camara

DESPIECE - LISTADO DE RECAMBIOS | EXPLODED VIEW - SPARE PARTS LIST | VUE ECLATEE - LISTE DES PIECES DETACHEES
QUICKIT|QUICKT - DT.DS.QL22021.2.3

mychefcooking.com




Vista conjunto ventilacion

DESPIECE - LISTADO DE RECAMBIOS | EXPLODED VIEW - SPARE PARTS LIST | VUE ECLATEE - LISTE DES PIECES DETACHEES
QUICKIT|QUICKT - DT.DS.Q1.2202.1.23

mychefcooking.com




Vista conjunto motor

DESPIECE - LISTADO DE RECAMBIOS | EXPLODED VIEW - SPARE PARTS LIST | VUE ECLATEE - LISTE DES PIECES DETACHEES
QUICKIT|QUICKT - DT.DS.QL22021.2.3

mychefcooking.com




Vista cajon electronica SFO01698

® &

DESPIECE - LISTADO DE RECAMBIOS | EXPLODED VIEW - SPARE PARTS LIST | VUE ECLATEE - LISTE DES PIECES DETACHEES
QUICKIT|QUICKT - DT.DS.Q1.2202.1.23

mychefcooking.com




Vista trasera

DESPIECE - LISTADO DE RECAMBIOS | EXPLODED VIEW - SPARE PARTS LIST | VUE ECLATEE - LISTE DES PIECES DETACHEES
QUICKIT|QUICKT - DT.DS.QL22021.2.3

mychefcooking.com




Listado de recambios

QUICK 1 QUICK 1T

ftem Descripcién ‘ Referencia r‘;’;::: QE1XXX0X QT1XXX0X
1 Electrénica premontaje QUICK CHEO01606 Unidades 1
Premontaje control Mychef QUICK 1 SF001707 Unidades 1 -
2 | Ventilador centrifugo 50x50x5 CFR00126 Unidades 1 1
3 | Cable USB Mychef QUICK CEL00353 Unidades 1
4 | Soporte burlete Mychef QUICK SF001700 Unidades 1 1
5 | Casquillo latén Mychef QUICK B-10-13-10 CHE01622 Unidades 2 2
6 | Asa puerta Mychef QUICK CHE01620 Unidades 1 1
7 Nariz cierre puerta Mychef QUICK - 21-0315 CH000250 Unidades 1 1
8 | MOLETA DIN653 m5x10 INOX CTOR0169 Unidades 4 4
9 | Bisagra Mychef QUICK SF001696 Unidades 2 2
10 | MOLETA DIN653 m5x20 INOX CTOR0170 Unidades 2 2
| e e S W Choouzes | unddes | 1|
12 Dispgsitivo de cierre.r,nicroin"cerruptor polo NA CHEO01636 Unidades 1 1
con sistema de traccion - Serie CFB
13 | Chapa coccién Mychef QUICK 22-0336 CH000253 Unidades 1 1
14 | Etiqueta silicona QUICK CHEO01627 Unidades 1 1
15 Resistencia 3300W 230V DIAM 235 H49 CCAREO058 Unidades 1 1
Resistencia 2600W 230V DIAM 235 H49 CCARE065 Unidades 1* 1*
16 | Junta resistencia Mychef Quick CHEQ1625 Unidades 1 1
17 | Pala 200x78 CHE01314 Unidades 1 1
18 | Junta grafito para sonda camara MKIII CHEQ1246 Unidades 1 1
19 | Sonda camara MKIII (350°C) CHEO01381 Unidades 1 1
20 ls\ﬂez’iciacrl'orrsw(;ri\ga5|co eje CONICO 2 velocidades - 2 CHEOT132 Unidades 1 1
21 | Casquillo retén CHE01106 Unidades 1 1
22 | Muelle retén CHEO01115 Unidades 1 1
23 | Contactor 22A CEL00237 Unidades 1 1
24 | Condensador 16pF para motor SISME M2225 CHE00740 Unidades 1 1
25 | FUENTE ALIMENTACION LRS-50-12 CEL00316 Unidades 1 1
26 | Cable comunicacion control Mychef QUICK CEL00352 Unidades 1 1
27 |Placa4relés CHEO01605 Unidades 1 1
28 | Termostato seguridad 350 °C CHEO01070 Unidades 1 1
29 | Junta silicona salida Mychef Quick color negro CHEO01652 Unidades 1 1
30 | Asa Trasera Mychef QUICK CHEO01621 Unidades 1 1
31 | Prensaestopas pléstico PG11 5-10 Negro CEL00107 Unidades 1 1
32| Ventilador axial QUICK 92x92x25 CFR00084 Unidades 2 2

*|_a resistencia de 2600W, CCAREQ65, estd instalada solo en los modelos comercializados en UK.

DESPIECE - LISTADO DE RECAMBIOS | EXPLODED VIEW - SPARE PARTS LIST | VUE ECLATEE - LISTE DES PIECES DETACHEES

mychefcooking.com

QUICKIT|QUICKT - DT.DS.QL22021.2.3



Exploded view

This exploded view corresponds to the models:
QE1XXXO0X | Mychef QUICK 1
QT1XXXO0X | Mychef QUICK 1T

DESPIECE - LISTADO DE RECAMBIOS | EXPLODED VIEW - SPARE PARTS LIST | VUE ECLATEE - LISTE DES PIECES DETACHEES

mychefcooking.com

QUICKIT|QUICKT - DT.DS.QL22021.2.3



Exploded door

DESPIECE - LISTADO DE RECAMBIOS | EXPLODED VIEW - SPARE PARTS LIST | VUE ECLATEE - LISTE DES PIECES DETACHEES
QUICKIT|QUICKT - DT.DS.Q1.2202.1.23

mychefcooking.com




Interior chamber view

DESPIECE - LISTADO DE RECAMBIOS | EXPLODED VIEW - SPARE PARTS LIST | VUE ECLATEE - LISTE DES PIECES DETACHEES

mychefcooking.com

QUICKIT|QUICKT - DT.DS.QL22021.2.3



Ventilation system view

DESPIECE - LISTADO DE RECAMBIOS | EXPLODED VIEW - SPARE PARTS LIST | VUE ECLATEE - LISTE DES PIECES DETACHEES
QUICKIT|QUICKT - DT.DS.Q1.2202.1.23

mychefcooking.com




Engine assembly view

DESPIECE - LISTADO DE RECAMBIOS | EXPLODED VIEW - SPARE PARTS LIST | VUE ECLATEE - LISTE DES PIECES DETACHEES
QUICKIT|QUICKT - DT.DS.QL22021.2.3

mychefcooking.com




Electronic drawer view SF001698

® &

DESPIECE - LISTADO DE RECAMBIOS | EXPLODED VIEW - SPARE PARTS LIST | VUE ECLATEE - LISTE DES PIECES DETACHEES
QUICKIT|QUICKT - DT.DS.Q1.2202.1.23

mychefcooking.com




Rear view

DESPIECE - LISTADO DE RECAMBIOS | EXPLODED VIEW - SPARE PARTS LIST | VUE ECLATEE - LISTE DES PIECES DETACHEES
QUICKIT|QUICKT - DT.DS.QL22021.2.3

mychefcooking.com




Spare parts list

QUICK 1 QUICK 1T

Item Description Reference meal::irte?:lent QE1XXX0X QT1XXX0X
1 QUICK pre-assembly electronics CHEO01606 Units - 1
Pre-assembly Mychef QUICK 1 control SF001707 Units 1
2 | Centrifugal fan 50x50x5 CFR00126 Units 1 1
3 | Mychef QUICK USB cable CEL00353 Units 1
4 Mychef QUICK weatherstrip support SF001700 Units 1 1
5 | Brass bushing Mychef QUICK B-10-13-10 CHE01622 Units 2 2
6 | Mychef QUICK door handle CHE01620 Units 1 1
7 Mychef QUICK door closer nose - 21-0315 CH000250 Units 1 1
8 | DIN653 MOLLET m5x10 INOX CTOR0169 Units 4 4
9 | Mychef QUICK hinge SF001696 Units 2 2
10 | MOLLET DIN653 m5x20 INOX CTOR0170 Units 2 2
11 (I\)/I3yocgef QUICK - 21-0299 /21-0300 - 21-0299 / 21 CHO000248 Units 1 1
12 M.icroswitch locking C.Ievice NO pole CHEO1636 Units ] 1
with pull system - Series CFB
13 | Mychef QUICK cooking plate 22-0336 CH000253 Units 1 1
14 | Quick silicone label CHE01627 Units 1 1
15 Resistance 3300W 230V DIAM 235 H49 CCAREO058 Units 1 1
Resistance 2600W 230V DIAM 235 H49 CCARE065 Units 1% 1=
16 | Mychef QUICK heating element gasket CHE01625 Units 1 1
17| Shovel 200x78 CHE01314 Units 1 1
18 | Graphite gasket for chamber probe MKIlI CHE01246 Units 1 1
19 | Probe chamber MKIII (350°C) CHE01381 Units 1 1
20 |Spalsphose moter CONCALFARZpeds 7| sy | e | 1 |
21 | Retainer bushing CHEO1106 Units 1 1
22 | Retaining spring CHEO1115 Units 1 1
23 | Contactor 22A CEL00237 Units 1 1
24 | Capacitor 16pF for SISME M2225 engine CHE00740 Units 1 1
25 | POWER SUPPLY LRS-50-12 CEL00316 Units 1 1
26 | Mychef QUICK control communication cable CEL00352 Units 1 1
26 | Cooling fan QUICK 80x80x26 CHEQ01626 Units 3 3
27 | Plate 4 relays CHE01315 Units 1 1
27 | Mychef QUICK control communication cable CEL00352 Units 1 1
28 | Safety thermostat 350 °C CHEO01070 Units 1 1
29 | Mychef QUICK outlet silicone gasket black colour | CHE01652 Units 1 1
30 | Mychef QUICK Handle CHEO1621 Units 1 1
31 | Plastic cable gland PG11 5-10 Black CEL00107 Units 1 1
32 | Axial fan 92x92x25 CFRO0084 Units 2 2

*The 2600W resistor, CCARE065, is fitted to UK models only.

DESPIECE - LISTADO DE RECAMBIOS | EXPLODED VIEW - SPARE PARTS LIST | VUE ECLATEE - LISTE DES PIECES DETACHEES

mychefcooking.com

QUICKIT|QUICKT - DT.DS.QL22021.2.3



Vue éclatée

Cette vue éclatée correspond aux modeéles :
QE1XXXO0X | Mychef QUICK 1
QT1XXXO0X | Mychef QUICK 1T

DESPIECE - LISTADO DE RECAMBIOS | EXPLODED VIEW - SPARE PARTS LIST | VUE ECLATEE - LISTE DES PIECES DETACHEES

mychefcooking.com

QUICKIT|QUICKT - DT.DS.QL22021.2.3



Vue éclatée de la porte

DESPIECE - LISTADO DE RECAMBIOS | EXPLODED VIEW - SPARE PARTS LIST | VUE ECLATEE - LISTE DES PIECES DETACHEES
QUICKIT|QUICKT - DT.DS.Q1.2202.1.23

mychefcooking.com




Vue intérieure de la chambre

DESPIECE - LISTADO DE RECAMBIOS | EXPLODED VIEW - SPARE PARTS LIST | VUE ECLATEE - LISTE DES PIECES DETACHEES
QUICKIT|QUICKT - DT.DS.QL22021.2.3

mychefcooking.com




Vue du systéme de ventilation

DESPIECE - LISTADO DE RECAMBIOS | EXPLODED VIEW - SPARE PARTS LIST | VUE ECLATEE - LISTE DES PIECES DETACHEES
QUICKIT|QUICKT - DT.DS.Q1.2202.1.23

mychefcooking.com




Vue de lI'assemblage du moteur

DESPIECE - LISTADO DE RECAMBIOS | EXPLODED VIEW - SPARE PARTS LIST | VUE ECLATEE - LISTE DES PIECES DETACHEES
QUICKIT|QUICKT - DT.DS.QL22021.2.3

mychefcooking.com




Vue de la boitier électronique SFO01698

® &

DESPIECE - LISTADO DE RECAMBIOS | EXPLODED VIEW - SPARE PARTS LIST | VUE ECLATEE - LISTE DES PIECES DETACHEES
QUICKIT|QUICKT - DT.DS.Q1.2202.1.23

mychefcooking.com




Arriére du four

DESPIECE - LISTADO DE RECAMBIOS | EXPLODED VIEW - SPARE PARTS LIST | VUE ECLATEE - LISTE DES PIECES DETACHEES
QUICKIT|QUICKT - DT.DS.QL22021.2.3

mychefcooking.com




Liste des piéces de rechange

QUICK 1 QUICK 1T

Item Description Référence l::;tif: QE1XXX0X QT1XXX0X
1 |Pré-assemblage électronique QUICK CHE01606 Unités 1
Pré-assemblage Commande Mychef QUICK 1 SF001707 Unités 1 -
2 | Ventilateur centrifuge 50x50x5 CFR00126 Unités 1 1
3 | Cable USB Mychef QUICK CEL00353 Unités 1
4 | Support de joint de la porte Mychef QUICK SF001700 Unités 1 1
5 | Douille en laiton Mychef QUICK B-10-13-10 CHE01622 Unités 2 2
6 | Mychef QUICK Poignée de porte CHE01620 Unités 1 1
7 Nez du ferme-porte Mychef Quick - 21-0315 CH000250 Unités 1 1
8 | DIN653 MOLLET m5x10 INOX CTOR0169 Unités 4 4
9 | Charniere Mychef QUICK SF001696 Unités 2 2
10 | MOLLET DIN653 m5x20 INOX CTOR0170 Unités 2 2
11 CDEEﬂlécKt?l;rf_gztg;ayz;rjge?’r(l)eour de la chambre Mychef CH000248 Unités ] 1
12 Dispositifde verrguillage é, microrupteur pole NA CHE01636 Unités 1 1
avec systeme de tirage - Série CFB
13 Plaque de cuisson Mychef QUICK 22-0336 CH000253 Unités 1 1
14 | Etiquette en silicone Mychef QUICK CHE01627 Unités 1 1
15 |Résistance 3300W 230V DIAM 235 H49 CCAREOQ58 Unités 1 1
Résistance 2600W 230V DIAM 235 H49 CCARE065 Unités 1* 1
16 | Joint d'élément chauffant Mychef QUICK CHE01625 Unités 1 1
17 | Pelle 200x78 CHEO01314 Unités 1 1
18 | Joint en graphite pour la sonde de la chambre MKIIl | CHE01246 Unités 1 1
19 | Sonde de la chambre MKIII (350°C) CHE01381 Unités 1 1
20 IS\/Iecr)]tses; rrno?[;\gg:ase arbre CONIQUE 2 vitesses - 2 CHEO1132 Unités ] ]
21 |Bague de retenue CHE01106 Unités 1 1
22 | Ressort de retenue CHEO1115 Unités 1 1
23 | Contacteur 22A CEL00237 Unités 1 1
24 | Condensateur 16pF pour moteur SISME M2225 CHE00740 Unités 1 1
25 | ALIMENTATION ELECTRIQUE LRS-50-12 CEL00316 Unités 1 1
26 | Cable de communication control Mychef QUICK CEL00352 Unités 1 1
27 | Plaque 4 relais CHEO01605 Unités 1 1
28 | Thermostat de sécurité 350 °C CHEO01070 Unités 1 1
29 | Joint silicone pour sortie Mychef QUICK couleur noir | CHE01652 Unités 1 1
30 | Poignée d'arriére Mychef QUICK CHE01621 Unités 1 1
31 | Presse-étoupe plastique PG11 5-10 Noir CEL00107 Unités 1 1
32 | Ventilateur axial QUICK 92x92x25 CFRO0084 Unités 2 2

*La résistance 2600W, CCARE065, est montée sur les modeles UK uniquement.

DESPIECE - LISTADO DE RECAMBIOS | EXPLODED VIEW - SPARE PARTS LIST | VUE ECLATEE - LISTE DES PIECES DETACHEES

mychefcooking.com

QUICKIT|QUICKT - DT.DS.QL22021.2.3



